
MATHS

BOOKS - RD SHARMA MATHS (ENGLISH)

LINES AND ANGLES

Others

1. Find the measure of an
angle which is complement of

itself.

Watch Video Solution

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_sl9IIbdDqoOF


2. Find the angle which is
equal to its supplement.

Watch Video Solution

3. Two supplementary angles
 differ by 
 Find the

angles.

Watch Video Solution

340.

4. An angle is equal to five
 times its complement.

Determine its measure.

Watch Video Solution

https://dl.doubtnut.com/l/_xb8hkjwSm6ga
https://dl.doubtnut.com/l/_SVtFGDTvHh2m
https://dl.doubtnut.com/l/_3EF9k7gXozi3
https://dl.doubtnut.com/l/_Ar84SDPshBnm


5. In Fig. 7, 
are opposite rays:
(i)
If x=75 find

the value of y (ii)
if y= 110 find the bvalue of x

Watch Video Solution

OA and OB

6. In Fig. 
 form a linear pair.

Determine the value of 

Watch Video Solution

8,  ∠AOC and ∠BOC

x.

7. In Fig.9, if ray 
 stands on line 
 such that 


then show that 

Watch Video Solution

OC AB

∠AOC = ∠COB, ∠AOC = 900.

https://dl.doubtnut.com/l/_Ar84SDPshBnm
https://dl.doubtnut.com/l/_ZE0m2jKMCSfn
https://dl.doubtnut.com/l/_KKewrxgPMigu


8. In Fig.10, lines 
 interest at 
 forming angles

as shown in the figure. If 
 find the value of 

Watch Video Solution

l1 and l2 O,

a = 35,

b, c and d.

9. In Fig. 11, determine the
value of 

Watch Video Solution

y.

10. In Fig. 12, two straight
 lines 
 intersect

each other at 
 If 
 find the values of 

W h Vid S l i

PQ and RS

O. ∠POT = 750,

a, b and c.

https://dl.doubtnut.com/l/_e6DfeDVVxlqX
https://dl.doubtnut.com/l/_D222ekwB197B
https://dl.doubtnut.com/l/_P8bVq7JC4p9A


Watch Video Solution

11. Write down each pair of
adjacent angles shown in Fig.

13.

Watch Video Solution

12. In Fig.14, name all the
pairs of adjacent angles.

Watch Video Solution

13. In Fig. 15, write down:
(i) each linear pair (ii) each pair

of vertically opposite angles.

Watch Video Solution

https://dl.doubtnut.com/l/_P8bVq7JC4p9A
https://dl.doubtnut.com/l/_XUWTFiaHQXmj
https://dl.doubtnut.com/l/_qsfdNyJMCB5c
https://dl.doubtnut.com/l/_oEaavrAJ0q06


14. Are the angles 1 and 2
 given in Fig. 16 adjacent

angles?

Watch Video Solution

15. Find the complement of
each of the following angles:

(i)
 
(ii) 

Watch Video Solution

350 720

16. Find the complement of
each of the following angles:

(i)
 
(ii) 450 850

https://dl.doubtnut.com/l/_oEaavrAJ0q06
https://dl.doubtnut.com/l/_lfNYQIgj9xAP
https://dl.doubtnut.com/l/_75e0N2TVs7oO
https://dl.doubtnut.com/l/_y4fsinwjSs7F


Watch Video Solution

17. Find the supplement of each
of the following angles:

(i)
 
(ii) 
.

Watch Video Solution

700 1200

18. Find the supplement of
each of the following angles:

(i)
 
(ii) 

Watch Video Solution

1350 900

19. Identify the complementary
and supplementary pairs

of angles from the following pairs:
 (i)
 
 (ii) 250, 650

https://dl.doubtnut.com/l/_y4fsinwjSs7F
https://dl.doubtnut.com/l/_MnbO7XxJQ6TB
https://dl.doubtnut.com/l/_PXdxC9sFmrht
https://dl.doubtnut.com/l/_l8kFmuMj06v9



.

Watch Video Solution

1200, 600

20. Identify the complementary
and supplementary pairs

of angles from the following pairs:
 (i)
 
 (ii) 


.

Watch Video Solution

630, 270

1000, 800

21. Can two angles be supplementary, if both of them be

A. obtuse

B. right

https://dl.doubtnut.com/l/_l8kFmuMj06v9
https://dl.doubtnut.com/l/_7Oz6iMIwGds0
https://dl.doubtnut.com/l/_pgAK92eDrWeQ


C. acute

D. none of these

Answer: B

Watch Video Solution

22. Name the four pairs of
supplementary angles shown

in Fig.17.

Watch Video Solution

23. In Fig.18 
 are collinear point and 


 (i)
 Name two linear pairs
 (ii)
 Name

A, B, C

∠DBA =  ∠EBA.

https://dl.doubtnut.com/l/_pgAK92eDrWeQ
https://dl.doubtnut.com/l/_ZOQAtIkVzMpj
https://dl.doubtnut.com/l/_PEAzYHmOh4nQ


two pairs of supplementary angles.

Watch Video Solution

24. If two supplementary
 angles have equal measure,

what is the measure of each angles?

Watch Video Solution

25. If the complement of an
 angle is 
 , then find the

supplement
of the angle.

Watch Video Solution

280

https://dl.doubtnut.com/l/_PEAzYHmOh4nQ
https://dl.doubtnut.com/l/_SDJY7GBnJFCT
https://dl.doubtnut.com/l/_CP1mhMAcLa7a


26. In Fig.19, name each
 linear pair and each pair of

vertically opposite angles:

Watch Video Solution

27. In Fig.20, 
is the bisector of 
if 

find the magnitudes of 

Watch Video Solution

OE ∠BOD. ∠1 = 700,

∠2,  ∠3 and ∠4.

28. One of the angles forming
 a linear pair is a right

angle. What can you say about its other angle?

Watch Video Solution

https://dl.doubtnut.com/l/_dBnLE2a3l3uT
https://dl.doubtnut.com/l/_YK5yPRP0QN8d
https://dl.doubtnut.com/l/_3TA6dTBFje3B


29. One of the angles forming
a linear pair is an obtuse

angle. What kind of angle is the other?

Watch Video Solution

30. One of the angles forming a linear pair is an acute

angle. What kind of angle is the other?

A. right

B. acute

C. reflex

D. obtuse

https://dl.doubtnut.com/l/_3TA6dTBFje3B
https://dl.doubtnut.com/l/_o86VnZA7mCt4
https://dl.doubtnut.com/l/_I4vWQvun9mq1


Answer: D

Watch Video Solution

31. Can two acute angles from
a linear pair?

Watch Video Solution

32. If the supplement of an
 angle is 
 then find its

complement.

Watch Video Solution

650;

33. Find the value of 
in each of the following figures.x

https://dl.doubtnut.com/l/_I4vWQvun9mq1
https://dl.doubtnut.com/l/_pDupDRUrE0PS
https://dl.doubtnut.com/l/_2rvd1C1ncG72
https://dl.doubtnut.com/l/_pFWyFSkFtI86


Watch Video Solution

34. In Fig.22, it being that 
 find all other

angles.

Watch Video Solution

∠1 = 650,

35. In Fig.23, 
 are opposite rays:
 (i) If x=25

what
is the value of y ? (ii) If y=35 what
is the value of x ?

Watch Video Solution

OA and OB

https://dl.doubtnut.com/l/_pFWyFSkFtI86
https://dl.doubtnut.com/l/_55E2f2apjEDK
https://dl.doubtnut.com/l/_4eslT89jSafq


36. In Fig.25, find 
 Further find

Watch Video Solution

∠x.

∠BOC,  ∠COD and ∠AOD.

37. How many pairs of adjacent
angles are formed when

two lines intersect in a point?

Watch Video Solution

38. How many pairs of adjacent
 angles, in all, can you

name in Figure?

https://dl.doubtnut.com/l/_SMQ4t63UmSu1
https://dl.doubtnut.com/l/_DLGiSH2hEgl2
https://dl.doubtnut.com/l/_zEbyiN58v58R


Watch Video Solution

39. In Fig.27, determine the
value of 

Watch Video Solution

x.

40. In Fig.28, 
is a line, find 

Watch Video Solution

AOC x.

https://dl.doubtnut.com/l/_zEbyiN58v58R
https://dl.doubtnut.com/l/_OY4fV6UUC8NF
https://dl.doubtnut.com/l/_STW12pmmiO4W


Watch Video Solution

41. In Fig.29, 
is a line, find 

A. 20

B. 40

C. 80

D. 180

Answer: A

Watch Video Solution

POS x.

https://dl.doubtnut.com/l/_STW12pmmiO4W
https://dl.doubtnut.com/l/_XR2zErXMIh3v


42. In Fig. 30, lines 
 intersect at 
 forming

angles as shown in the figure. If 
 find the

values of 

Watch Video Solution

l1 and l2 O,

x = 450,

y, z and u.

43. In the given figure, three coplanar
lines intersect at a

point 
 forming angles as shown in the figure. Find

the value of .

Watch Video Solution

O,

x, y, z and u

44. In Fig.32, find the values
of 

W h Vid S l i

x, y and z.

https://dl.doubtnut.com/l/_bilfCB9MgnMN
https://dl.doubtnut.com/l/_MdTZeRbxJ1ZH
https://dl.doubtnut.com/l/_cCPBBqU5iONJ


Watch Video Solution

45. In Fig. 48, line 
 line 
 is transversal and 


Find all the other angles marked in the
figure.

Watch Video Solution

l  ∣ ∣ m,  n

∠1 = 400.

46. In Fig. 49, 
Find 

Watch Video Solution

m ∣ ∣ n and ∠1 = 650. ∠5 and ∠8.

47. In Fig. 50 
and angles 1 and 2 are in the ratio 


Determine all the angles from 1 to 8.

Watch Video Solution

m ∣ ∣ n

3: 2.

https://dl.doubtnut.com/l/_cCPBBqU5iONJ
https://dl.doubtnut.com/l/_sMHUbSVVtsJp
https://dl.doubtnut.com/l/_oRS915v6jhBc
https://dl.doubtnut.com/l/_Wy7FzXZzZd8u


48. In Fig. 51, 
are parallel lines
intersected by

a transversal 
respectively. Find 

and 
Give reasons.

Watch Video Solution

l,  m and n

p at X, Y  and Z ∠1,  ∠2

∠3.

49. In Fig. 52. 
Determine 

A. 

B. 

C. 

D. 

AB ∣ ∣ CD. ∠a

38∘

93∘

55∘

83∘

https://dl.doubtnut.com/l/_Wy7FzXZzZd8u
https://dl.doubtnut.com/l/_xtzRVN7l0Zld
https://dl.doubtnut.com/l/_nLKxsgQ3ZBMY


Answer: B

Watch Video Solution

50. In Fig. 53, 
Determine 

Watch Video Solution

AB ∣ ∣ CD. x.

51. In Fig. 54, if 
 show that 

Watch Video Solution

∠2 = 1200 and ∠5 = 600,

m ∣ ∣ n.

52. In Fig.55, if 
and 
Is ∠3 = 610 ∠7 = 1180. m ∣ ∣ n?

https://dl.doubtnut.com/l/_nLKxsgQ3ZBMY
https://dl.doubtnut.com/l/_zEBY5i9TCYwz
https://dl.doubtnut.com/l/_rNTQh9FLqf8l
https://dl.doubtnut.com/l/_OC2DKHce7w8M


Watch Video Solution

53. In Fig.56, give reasons
why 

Watch Video Solution

l1
∣
∣(
∣
∣l2

.

Is m1 
∣
∣ )

∣
∣m2 ?

54. In the given figure, show that 

Watch Video Solution

AB ∣ ∣ EF .

55. In Figure, line n is a transversal to line l and m.

Identify the following:

https://dl.doubtnut.com/l/_OC2DKHce7w8M
https://dl.doubtnut.com/l/_UjThBvB8wDrp
https://dl.doubtnut.com/l/_7il9rwcPc3DH
https://dl.doubtnut.com/l/_14fHugEWOF7M


i) Alternate and corresponding angles in Figure

Watch Video Solution

56. In the given figure, 
 and 
 are parallel lines

intersected by a
 transversal 
 at 
 and 

respectively, If 
find all other angles in the

figure.

Watch Video Solution

AB CD

PQ L M

∠CMQ = 600

https://dl.doubtnut.com/l/_14fHugEWOF7M
https://dl.doubtnut.com/l/_tCMxlIFGNtpO


Watch Video Solution

57. In the given figure, 
 are parallel lines

intersected by a transversal
 
 at 
 and 

respectively. If 
find .

Watch Video Solution

AB and CD

PQ L M

∠LMD = 350 ∠PLA

58. In the given figure, line  ||  and 
is a transversal. If


 find all the angles and check that all

corresponding angles and alternate angles are equal.

Watch Video Solution

l m n

∠1 = 400,

https://dl.doubtnut.com/l/_tCMxlIFGNtpO
https://dl.doubtnut.com/l/_pwJTmpaDFk3u
https://dl.doubtnut.com/l/_izx4cnqT93P0


59. In the given figure, line  || 
and a transversal 
cuts

them at P and Q respectively. If 
find all other

angles.

Watch Video Solution

l m n

∠1 = 750,

60. In the given figure, || 
 and a transversal 

cuts them at  and 
 respectively. If 

find all other angles.

Watch Video Solution

AB CD PQ

L M ∠QMD = 1000,

https://dl.doubtnut.com/l/_T79UO72qDV4L
https://dl.doubtnut.com/l/_ItrwvrGtDdlR


61. In the given figure,  ||  and  || .
Find the value of 

.

Watch Video Solution

l m p q

x, y, z, t

62. In Fig 66, 
and 
find

out 

Watch Video Solution

l ∈ e lm,  ∠1 = 1200 ∠2 = 1000,

∠3 and ∠4.

63. In the given figure,  || 
Find the value of .

Give reasons.

Watch Video Solution

l m a, b, c, d

https://dl.doubtnut.com/l/_Xhdzy245RZbu
https://dl.doubtnut.com/l/_y1RpzCSpzoNS
https://dl.doubtnut.com/l/_0D4tpckCKQuf


64. In the given figure,  ||  and  and 
 are in

the ratio 
Determine all angles from  to .

Watch Video Solution

AB CD ∠1 ∠2

3: 2. 1 8

65. In the given figure 
 are parallel lines

intersected by transversal 
at 
respectively.

Find 

Watch Video Solution

l,  m and n

p X,  Y  and Z

∠1,  ∠2 and ∠3

https://dl.doubtnut.com/l/_0D4tpckCKQuf
https://dl.doubtnut.com/l/_B5hvUFPiO5NQ
https://dl.doubtnut.com/l/_dI45oVQfrzlZ


66. In Fig.70. if  and 
find 


A. 

B. 

C. 

D. 

l||m||n ∠1 = 60∘ , ∠2.

180∘

20∘

120∘

60∘

https://dl.doubtnut.com/l/_bIaD5LyVVPcX


Answer: C

Watch Video Solution

67. In the given figure, if  ||  and  || ,
 find

.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

AB CD CD EF

 ∠ACE

70∘

50∘

140∘

20∘

https://dl.doubtnut.com/l/_bIaD5LyVVPcX
https://dl.doubtnut.com/l/_4IClYzSmrrBJ


68. In Fig.72, If 
find 

Watch Video Solution

lm,  np and ∠1 = 850, ∠2.

69. In the given figure, a transversal n cuts two lines 

and  if  and ,
is   ?

Watch Video Solution

l

m ∠1 = 700 ∠7 = 800 l ∣∣ m

70. In the given figure, a transversal 
 cuts two lines 

and 
such that 
and .
 Are the lines

parallel?

Watch Video Solution

n l

m ∠2 = 650 ∠8 = 650

https://dl.doubtnut.com/l/_4IClYzSmrrBJ
https://dl.doubtnut.com/l/_ZVER7cXOHqm8
https://dl.doubtnut.com/l/_D4IL4F33P4Rz
https://dl.doubtnut.com/l/_IIQqCZFxXccK


Watch Video Solution

71. In Figure, Show that   .

Watch Video Solution

AB ∣∣ EF

72. In Fig.76, 
Find the value of 

Watch Video Solution

ABCD. x, y, z.

https://dl.doubtnut.com/l/_IIQqCZFxXccK
https://dl.doubtnut.com/l/_2qliJCVoqKtF
https://dl.doubtnut.com/l/_c0QytFaG7e0n


73. In Figure , find out 
if   .


A. 

B. 

∠PXR, PQ ∣∣ RS

120∘

20∘

https://dl.doubtnut.com/l/_ybTwJeyhVzQX


C. 

D. 

Answer: A

Watch Video Solution

210∘

240∘

74. In Fig.79, 
Find the value of 

Watch Video Solution

DEBC. x and y.

75. In Fig.80, line 
 Find

out the angles 
if 

Watch Video Solution

ACl ∈ e DE and ∠ABD = 320.

x and y ∠E = 1220.

https://dl.doubtnut.com/l/_ybTwJeyhVzQX
https://dl.doubtnut.com/l/_GbjIGVmRypSm
https://dl.doubtnut.com/l/_XGfEmu02fja6


76. In Fig.81, side 
 of 
 has been produced to D

and 
 If 
 find 

Watch Video Solution

BC ABC

CEBA. ∠ABC = 650,  ∠BAC = 550,

∠ACE,  ∠ECD and ∠ACD.

77. In Fig.82, line 
 and 
 and 


Find 

Watch Video Solution

CA ⊥ AB AB ∣ ∣ CR

PR ∣ ∣ BD. ∠x, ∠y and ∠z.

78. In Fig.83, 
Find the value of 

W h Vid S l i

PQ ∣ ∣ RS x.

https://dl.doubtnut.com/l/_XGfEmu02fja6
https://dl.doubtnut.com/l/_YWZsTRfAIr7E
https://dl.doubtnut.com/l/_KW95V8jcRDx6
https://dl.doubtnut.com/l/_rzF2nSr0UPid


Watch Video Solution

79. In Fig.84,

Find the values of 

Watch Video Solution

AB||CD and AE||CF ;  ∠FCG = 900 and ∠BAC = 1200.

x, y and z.

80. In Fig.85, 
 Find the value of 

Watch Video Solution

AB||CD and AC||BD.

x, y, z.

81. In Fig.86, state which
lines are parallel and why?

https://dl.doubtnut.com/l/_rzF2nSr0UPid
https://dl.doubtnut.com/l/_plUbEjG3ff4N
https://dl.doubtnut.com/l/_5NxPsiQKztU0
https://dl.doubtnut.com/l/_znvSB13xzyCs


Watch Video Solution

82. In Fig.87, the
 corresponding arms of


 are parallel. If 
 find

the 

Watch Video Solution

∠ABC and ∠DEF ∠ABC = 750,

∠DEF .

83. The sum of an angle and
 one third of its

supplementary angle is 
The measure of the angle is

(a) 
 (j) (b) 


 (s)
 (c) 


 (l) (d) 


(u)

900.

(b)(c)(d)(e)135 ( f ) 0 ( g ) (h)(i)

(k)(l)(m)(n)120 ( o ) 0 ( p ) (q)(r)

(d)(e)(f)(g)60 ( h ) 0 ( i ) (j)(k)

(m)(n)(o)(p)45 ( q ) 0 ( r ) (s)(t)

https://dl.doubtnut.com/l/_znvSB13xzyCs
https://dl.doubtnut.com/l/_tlsR6Xas647R
https://dl.doubtnut.com/l/_oLmWr3j2pPZU


Watch Video Solution

84. If angles of a linear pair
are equal, then the measure

of each angle is
 (a) 
 (j) (b) 


 (s)
 (c)


 (l)
 (d) 


(u)

Watch Video Solution

(b)(c)(d)(e)30 ( f ) 0 ( g ) (h)(i)

(k)(l)(m)(n)45 ( o ) 0 ( p ) (q)(r)

(d)(e)(f)(g)60 ( h ) 0 ( i ) (j)(k)

(m)(n)(o)(p)90 ( q ) 0 ( r ) (s)(t)

85. Two complementary angles
are in the ratio 
The

measure of the larger angle is
 (a)


 (j) (b) 


 (s)
 (c) 

2: 3.

(b)(c)(d)(e)60 ( f ) 0 ( g ) (h)(i)

(k)(l)(m)(n)54 ( o ) 0 ( p ) (q)(r)

https://dl.doubtnut.com/l/_oLmWr3j2pPZU
https://dl.doubtnut.com/l/_kXinY7oaiXhP
https://dl.doubtnut.com/l/_WQsFiWbFyIrW



 (l) (d) 


(u)

Watch Video Solution

(d)(e)(f)(g)66 ( h ) 0 ( i ) (j)(k)

(m)(n)(o)(p)48 ( q ) 0 ( r ) (s)(t)

86. An angle is thrice its
supplement. The measure of the

angle is
 (a) 
 (j) (b) 


 (s)
 (c) 


 (l) (d) 


(u)

Watch Video Solution

(b)(c)(d)(e)120 ( f ) 0 ( g ) (h)(i)

(k)(l)(m)(n)105 ( o ) 0 ( p ) (q)(r)

(d)(e)(f)(g)135 ( h ) 0 ( i ) (j)(k)

(m)(n)(o)(p)150 ( q ) 0 ( r ) (s)(t)

https://dl.doubtnut.com/l/_WQsFiWbFyIrW
https://dl.doubtnut.com/l/_X41Lpe8OYGtj


87. In Fig.88 
 is a straight line and 


 The measure of 
 is
 (a) 


 (j) (b) 


 (w) (c) 


 (p) (d) 


(y)

Watch Video Solution

PR

∠PQS : ∠SQR = 7: 5. ∠SQR

(b)(c)(d)(e)60 ( f ) 0 ( g ) (h)(i)

(k)(l)62(m)(n)(o) 2(q)(r) ( s ) 0 ( t ) (u)(v)
1

p

(d)(e)67(f)(g)(h) 2(j)(k) ( l ) 0 (m) (n)(o)
1

i

(q)(r)(s)(t)75 ( u ) 0 ( v ) (w)(x)

88. The sum of an angle and
 half of its complementary

angle is 
 The measure of the angle is
 (a) 


 (j) (b) 


 (s)
 (c) 

750.

(b)(c)(d)(e)40 ( f ) 0 ( g ) (h)(i)

(k)(l)(m)(n)50 ( o ) 0 ( p ) (q)(r)

https://dl.doubtnut.com/l/_w5J9R33kH3Tx
https://dl.doubtnut.com/l/_rbu10LNAjFLt



 (l) (d) 


(u)

Watch Video Solution

(d)(e)(f)(g)60 ( h ) 0 ( i ) (j)(k)

(m)(n)(o)(p)80 ( q ) 0 ( r ) (s)(t)

89. 
is an obtuse angle. The measure of 
and twice

its supplementary differ by 
 Then, 
 can be
 (a) 


 (j) (b) 


 (s)
 (c) 


 (l) (d) 


(u)

Watch Video Solution

∠A ∠A

300. ∠A

(b)(c)(d)(e)150 ( f ) 0 ( g ) (h)(i)

(k)(l)(m)(n)110 ( o ) 0 ( p ) (q)(r)

(d)(e)(f)(g)140 ( h ) 0 ( i ) (j)(k)

(m)(n)(o)(p)120 ( q ) 0 ( r ) (s)(t)

https://dl.doubtnut.com/l/_rbu10LNAjFLt
https://dl.doubtnut.com/l/_2Ig6VR04qUAE


90. An angle is double of its
supplement. The measure of

the angle is
 (a) 
 (j) (b) 


 (s)
 (t) 


(cc)
(d) 
(ll)

Watch Video Solution

(b)(c)(d)(e)60 ( f ) 0 ( g ) (h) (i)

(k)(l)(m)(n)120 ( o ) 0 ( p ) (q)(r) [Math Processing

Error] (dd)(ee)(ff)(gg)80 ( hh ) 0 ( ii ) (jj)(kk)

91. The measure of an angle
 which is its own

complement is
 (a)
 
 (j)
 (b) 


 (s)
 (c) 


 (l) (d) 


(u)

Watch Video Solution

(b)(c)(d)(e)30 ( f ) 0 ( g ) (h)(i)

(k)(l)(m)(n)60 ( o ) 0 ( p ) (q)(r)

(d)(e)(f)(g)90 ( h ) 0 ( i ) (j)(k)

(m)(n)(o)(p)45 ( q ) 0 ( r ) (s)(t)

https://dl.doubtnut.com/l/_OJynNmOL5Isg
https://dl.doubtnut.com/l/_olz5UELkB67Q


92. Two supplementary angles
are in the ratio 
The

smaller angle measures
 (a)


 (j) (b) 


 (s)
 (c) 


 (l) (d) 


(u)

Watch Video Solution

3: 2.

(b)(c)(d)(e)108 ( f ) 0 ( g ) (h)(i)

(k)(l)(m)(n)81 ( o ) 0 ( p ) (q)(r)

(d)(e)(f)(g)72 ( h ) 0 ( i ) (j)(k)

(m)(n)(o)(p)68 ( q ) 0 ( r ) (s)(t)

93. In Fig.89, the value of 
is
(a)
75 (b) 65
(c)
45 (d) 55

Watch Video Solution

x

https://dl.doubtnut.com/l/_BJ4cDN6kbnLC
https://dl.doubtnut.com/l/_G5vn1zlbsCH2


94. In Fig.90, 
 is a straight line and the ray 

stands on it. The value of 
is
(a)
16 (b) 26
(c)
36 (d) 46

Watch Video Solution

AOB OC

x

95. In Fig. 91, 
 is a straight line and 
 The

value of 
is
(a)
100 (b) 105
(c)
110 (d) 115

Watch Video Solution

AOB 4x = 5y.

x

96. In Fig.92, 
 is a straight line such that


 and 

AOB

∠AOC = (3x + 10)0,  ∠COD = 500

https://dl.doubtnut.com/l/_PrFgbgB7odpn
https://dl.doubtnut.com/l/_xoanYfQ0r6Zw
https://dl.doubtnut.com/l/_CX2xofwseEB0



The value of 
is
(a)
32 (b) 36
(c)
42

(d) 52

Watch Video Solution

∠BOD = (x − 8)0. x

97. In Fig.93, if 
 is a straight line, then 
 (a) 


 (j) (b) 


 (s)
 (c) 


 (l) (d) 


(u)

Watch Video Solution

AOC x =

(b)(c)(d)(e)42 ( f ) 0 ( g ) (h)(i)

(k)(l)(m)(n)52 ( o ) 0 ( p ) (q)(r)

(d)(e)(f)(g)142 ( h ) 0 ( i ) (j)(k)

(m)(n)(o)(p)38 ( q ) 0 ( r ) (s)(t)

https://dl.doubtnut.com/l/_CX2xofwseEB0
https://dl.doubtnut.com/l/_oTwc8ihfISHg


98. In Fig.94, if 
 is a straight line, then the value

of 
is
(a)
15 (b) 18
(c)
20 (d) 16

Watch Video Solution

∠AOC

x

99. In Fig.95, If 
are straight lines, then


(a)
5
(b) 10
(c)
20 (d) 30

Watch Video Solution

AB,  CD and EF

x =

100. In Fig.96, If 
 are straight lines,

then 
(a)
180 (b) 203
(c)
213 (v) 134

Watch Video Solution

AB,  CD and EF

x + y + z =

https://dl.doubtnut.com/l/_LHzcqLIUg6oV
https://dl.doubtnut.com/l/_5Pym4hoJSSDt
https://dl.doubtnut.com/l/_ljOzLTFKt8E9


101. In Fig.97, If 
 is parallel to CD, then the value of


 is
 (a)
 
 (j)
 (b) 


 (s)
 (c) 


 (l) (d) 


(u)

Watch Video Solution

AB

∠BPE (b)(c)(d)(e)106 ( f ) 0 ( g ) (h)(i)

(k)(l)(m)(n)76 ( o ) 0 ( p ) (q)(r)

(d)(e)(f)(g)74 ( h ) 0 ( i ) (j)(k)

(m)(n)(o)(p)84 ( q ) 0 ( r ) (s)(t)

102. In Fig.98, If AB is
 parallel to CD and EF is a

transversal, then 
(a)
19 (b) 29
(c)
39 (d) 49

Watch Video Solution

x =

https://dl.doubtnut.com/l/_ljOzLTFKt8E9
https://dl.doubtnut.com/l/_OEx5PsQcmtWp
https://dl.doubtnut.com/l/_26XghKiskicw


103. In Fig.99, 
 is a transversal

intersecting AB and CD at P
 and Q respectively. The

measure of 
 is
 (a) 

(j) (b) 
 (s)
 (c) 


 (l) (d) 


(u)

Watch Video Solution

ABCD and EF

∠DPQ (b)(c)(d)(e)100 ( f ) 0 ( g ) (h)(i)

(k)(l)(m)(n)80 ( o ) 0 ( p ) (q)(r)

(d)(e)(f)(g)110 ( h ) 0 ( i ) (j)(k)

(m)(n)(o)(p)70 ( q ) 0 ( r ) (s)(t)

104. In Fig.100, 
 is a transversal

intersecting AB and CD at P
 and Q respectively. The

measure of 
is
(a)
65 (b) 25
(c)
115 (d) 105

Watch Video Solution

AB ∣ ∣ CD and EF

∠DQP

https://dl.doubtnut.com/l/_DtbBQ8BZoeQA
https://dl.doubtnut.com/l/_KcyBYdPZ411x


105. In Fig.101, 
 is a transversal. The

value of 
is
(a)
30 (b) 35
(c)
95 (d) 25

Watch Video Solution

ABCD and EF

y − x

106. In Fig.102,


 and 


the value of 
is
(a)
35 (b) 50
(c)
30 (d) 40

Watch Video Solution

ABCDEF ,  ∠ABG = 1100, ∠GCD = 1000

∠BGC = x0. x

107. In Fig.103,


 Then, PQRS and ∠PAB = 600 and ∠ACS = 1000.

https://dl.doubtnut.com/l/_8xMp0jFqGVfT
https://dl.doubtnut.com/l/_MCFS2XehfQ1h
https://dl.doubtnut.com/l/_QWK1osruCZ9B



 (a) 
 (j) (b) 


 (s)
 (c) 


 (l) (d) 


(u)

Watch Video Solution

∠BAC = (b)(c)(d)(e)40 ( f ) 0 ( g ) (h)(i)

(k)(l)(m)(n)60 ( o ) 0 ( p ) (q)(r)

(d)(e)(f)(g)80 ( h ) 0 ( i ) (j)(k)

(m)(n)(o)(p)50 ( q ) 0 ( r ) (s)(t)

108. In Fig.104,


 Then, 


 (a) 
 (j) (b) 


 (s)
 (c) 


 (l) (d) 


(u)

Watch Video Solution

ABCD,  ∠OAB = 1500 and ∠OCD = 1200.

∠AOC = (b)(c)(d)(e)80 ( f ) 0 ( g ) (h)(i)

(k)(l)(m)(n)90 ( o ) 0 ( p ) (q)(r)

(d)(e)(f)(g)70 ( h ) 0 ( i ) (j)(k)

(m)(n)(o)(p)100 ( q ) 0 ( r ) (s)(t)

https://dl.doubtnut.com/l/_QWK1osruCZ9B
https://dl.doubtnut.com/l/_8Bg0Swh4R9Uh


109. In Fig.105, If 
and 
are straight lines. Then


(a)
120 (b) 140
(c)
100 (d) 160

Watch Video Solution

AOB COD

x + y =

110. In Fig.106, the value of 
is
(a)
22 (b) 20
(c)
21 (d) 24

Watch Video Solution

x

https://dl.doubtnut.com/l/_5WyumLjkmdlJ
https://dl.doubtnut.com/l/_siNexk3t2ilp


111. In Figure, If 
are straight lines,


then

A. 

B. 

C. 

D. 

AOB and COD

x = 29, y = 100

x = 100, y = 29

x = 29, y = 110

x = 39, y = 100

https://dl.doubtnut.com/l/_UHXmWrgaNLwL


Answer: C

Watch Video Solution

112. In Fig.108, if 
then the value of 
 is
 (a)
87 (b)

93
(c)
147 (d) 141

Watch Video Solution

ABCD x

113. In Fig.109, If 
then the value of 
 is
 (a)
34 (b)

124
(c)
24 (d) 158

Watch Video Solution

ABCD x

https://dl.doubtnut.com/l/_UHXmWrgaNLwL
https://dl.doubtnut.com/l/_a3UBGoSkzBbd
https://dl.doubtnut.com/l/_3YAFhQcrTFQN


114. In Fig.110, If 
The value of 
 is
 (a)
122 (b) 238

(c)
58 (d) 119

Watch Video Solution

ABCD. x

115. In Fig.111, if 
 then 
 (a)
154 (b) 139
(c)
144

(d) 164

Watch Video Solution

ABCD x =

116. In Fig.112, if 
then 
 (a)
32 (b) 42
(c)

52 (d) 31

Watch Video Solution

 AB ∣ ∣ CD, x =

https://dl.doubtnut.com/l/_xc0nWxbBicPP
https://dl.doubtnut.com/l/_NeA0UQykQEhM
https://dl.doubtnut.com/l/_yYUFw3iFlmIm


117. In Fig.113, if 
 then
 (a) 


 (b)  (c) 


(d) 

Watch Video Solution

 AC||DF  and AB||CE,

x = 145,  y = 223 x = 223,  y = 145

x = 135,  y = 223 x = 233,  y = 135

https://dl.doubtnut.com/l/_yYUFw3iFlmIm
https://dl.doubtnut.com/l/_XIC5IktqrMc6

